
Homework 1 Math-1700-es31 2013 January 7

5.pe.9.e
w 5

−2

�
f(x) + g(x)
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5.pe.55 Let u be 3x− 4, so du = 3 dx and dx = du/3. Then

w dx

3x− 4
=
w du/3

u
=

1
3

w du

u
=

1
3

ln |u| = 1
3

ln |3x− 4|.

Thus, w 1

−1

dx

3x− 4
=

1
3
(ln |3x− 4|)|1−1 =

1
3
(ln |3(1)− 4| − ln |3(−1)− 4|) = −1

3
ln 7.
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w 1

−1
(3x2 − 4x + 7) dx =

�
3
x3

3
− 4

x2

2
+ 7x

�����1
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=
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(1)3 − 2(1)2 + 7(1)

�
−
�
(−1)3 − 2(−1)2 + 7(−1)

�
= 16.

5.pe.125

dy = d
w 0

ln x2
ecos t dt = (ecos t dt)|0ln x2 = ecos 0 d(0)− ecos ln x2

d(ln x2) = 0− ecos ln x2
�

2xdx

x2

�
= −2ecos ln x2

dx

x
,

so
dy

dx
= −2ecos ln x2

x
.
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